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Quiz Date: 4t July 2020

Directions (1-15): In each of these questions, two equations (I) and (II) are given. You have
to solve both the equations and give answer.
L2x7+11x+ 14 =10
Q1. n4y:+ 12y +9=0
(a)ifx<y
(b)ifx>y
(g)ifx<y
(dIfx=zy
(e) if x =y or no relation can be established

Lx*—4=0
Q2. ny*+6y+9=0
(a)ifx<y
(b)ifx>y
(c)ifx=<y
(d)Ifx=y
(e) if x =y or no relation can be established

Lx*—7x+12=10
Q3 ny*+y—12=10
(a)ifx<y
(b)ifx>y
(q)ifx<y
(dIfx=zy
(e) if x =y or no relation can be established

I.x% =729

04 I.y=+529
(a)ifx<y
(b)ifx>y
(0)ifx<y
(dIfx=y
(e) if x =y or no relation can be established

I x¥—227 = 398
Q5. Ily*+321 = 346
(a)ifx<y
(b)ifx>y
(0)ifx<y
(dIfxzy
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(e) if x =y or no relation can be established

I. 9x%%=1
o I 4y*+11y—3=0
(a)ifx<y
(b)ifx<y
(c) if x =y, or no relation can be established between x and y
(d)ifx>y
(e)ifx=y

. x2—5=0
. 4y2—24y+35=0

(a)ifx<y
(b)ifx<y
(c) if x =y, or no relation can be established between x and y
(d)ifx>y

(e)ifx=y
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. x2—5x—14 =0
2 =

08, . y*+/y+10=0

(a)ifx<y

(b)ifx<y

(c) if x =y, or no relation can be established between x and y
(d)ifx>y

(e)ifxzy
l. 5x+7y=—43
Q9. . 9x—17y=41

(a)ifx<y
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(b)ifx<y
(c) if x =y, or no relation can be established between x and y
(d)ifx>y
(e)ifx=y

1. 22— (4+V13)x+2vV13=0

o10. - 10y*—(18 + 5V13)y+9V13=0

(a)ifx<y
(b)ifx<y
(c) if x =y, or no relation can be established between x and y
(d)ifx>y
(e)ifx=y

. (p+q)?=3136
o11. 114+2513=2569
(@)ifp>q
(b) ifp=q
(c)ifp<q

(d)ifpsq
(e) if p = q or there is no relation between ‘p’ and ‘q’.

.4p2—16p+15=0
2,6q_7=

Q12_|L2q 5q—7=0
(a)ifp>q
(b) ifp=q
(c)ifp<q
(d)ifp=<q
(e) if p = q or there is no relation between ‘p’ and ‘q’.

|.p?=49
2 _
Q13. Il.g=+15g+56=0

(a)ifp>q

(b) ifpzq

(c)ifp<q

(d)ifpsq

(e) if p = q or there is no relation between ‘p’ and ‘q’.
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.2p?+5p—12 =0
11.2g°—q—1=0
Q14. 4
(@)ifp>q
(b) ifp=q
(c)ifp<q
(d)ifpsq
(e) if p = q or there is no relation between ‘p’ and ‘q’.
.p2—12p+35=0
1.q?*—25=0
15. G
(@)ifp>q
(b) ifp=q
(c)ifp<q
(d)ifp<q
(e) if p = q or there is no relation between ‘p’ and ‘q’.
Solutions
S1. Ans.(a)
Sol.
L2x2+4x+7x+14=0 I.(2y+3)2=0
2x(x+2)+7(x+2)=0 y= —15,—-15
x= —2,—35
X<y
S2. Ans.(b)
Sol.
l.x = £2 .y2+3y+3y+9=0
y= —3,-3
X=y
S3. Ans.(d)

Sol.
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L x2—3x—4x+12=0 Ly 4+4y—3y—12=0
x(x—3)—4(x—-3)=0 viv+4)—-3(y+4)=0
x= 3,4 y=3—4
K2y
S4. Ans.(e)
Sol.
l.x = +27
Iy =23
~ Mo relation
S5. Ans.(e)
Sol.
. x* = 398 + 227 = 625 Il. y? = 346 — 321
x= %5 y= 15
no relation
S6. Ans.(c)
Sol.
1 -1
T 3'3

4y? +12y—y—-3=0

dy(yv+3)—1(y+3)=0
_ 1

y=3—3

So no relation can be established

S7.Ans.(a)

Sol.
x =+/5—5
4y? — 14y — 10y + 35 =0
2v(2y —=7)—=5(2y —-7)=10

57
Y=133

X<y
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S8. Ans.(e)
Sol.

2 —Tx+4+2x—14=0
x(x—=7)+2(x—-7)=0

x=7,-2
yi4+5y+2y+10=0
y=-2,—-5
xX=2y
TARGET IBPS RRB PO/
CLERK PRELIMS 2020
S9. Ans.(d)
Sol.
Solving these equations.
x=-3,y=—4
x>y
S10. Ans.(e)
Sol.

2x2 —4x —\13x + 24/13 =0
2x(x —2) —+/13(x—-2)=0

13
x =52

10y? — 18y — 513y + 9413 =0
2y(5y —9) —4/13(5y —9) =0
13

Vi3 9
I — e— -
¥ 2 '5

xX=y

S11. Ans.(c)
Sol.
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q =56
p+q=156p=0

If p+g=-56 then p=-112
p+q=56then p=0 so0,g>=p

S12. Ans.(a)
Sol.
4p* —10p—6p +15=10

2p(2p—5)—3(2p—-5)=0
_ 35

quz—éq-l-?q—?:{}
2q(q —1)+7(q-1) =0
q=-.1

p>q

S13. Ans.(b)

Sol.

p=7,-7
g°+7q+8q+56=0
qglg+7)+8(g+7)=0
qg=-—7,—8

p=q

S14. Ans.(e)

Sol.
2p°+8p—3p—12=0
2p(p+4)—-3(p+4)=0

3
ngJ_Ll'
2g¢°—2g+g—1=0
2q(g—1)+1(g—1)=0
q=_7—1:1

Mo relation can be estahblished.

S15. Ans.(b)

Sol.
p*—Tp—5p+35=0
plp—7)—5(pm-7)=0
p=257
q=>5—-5
p=q
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